F RS HAh R4

i3 ~ BER1TXB DB RS

www.atlantis.tw

v AR A
5...2000Hz (20g)
Vi FE

IEC 61000-6-2/3/4
VES

IP65 (#Ef &)
IP67 (ELfth)

v B EES VMR E

v ~am AE: PT-E100M 3
G1/2" ViBEEN

1/4" NPT 200%FS. (<20MPa)

1/2" NPT 150%F.S. (>40MPa)

M20*1.5 VIEIRES

M12*1 500%F.S. (<20MPa)

EfIRETIET S 300%F.S. (40~70MPa) T
VE s EE 200%F.S. (>80MPa) : 5
BHELR / WHEE / V&SR

M12*1 4 $t2 0% 0~5V/0~10V /4-20mA Miagy,, )
VB AOTEH v I {FEE

RIE [ BE ) R 24VDC (12~32VDC)

vENEE ViRAEE

-100 kPa...0~1.0..1.6..3.0 +0.05%F.S. /

..10...20...40...60...70...80 +0.1%FS./

..90...100 MPa +0.25%F.S.

VERNE vV EHTEE M

8155304 - 316L HFAMWIEE | <+01%FS/&E o’

ol s Epede VEHER

v IERE <15mA :—-\

-40 to 100°C v @B e

v & A >100MQ (100VDC) -

50g (11ms)

REFRE N2 - BREHSE - BIENEREERESR -

(FEE X TDRBEREE - LIRIFIRERE)

=

B SFIEAIREME - BERITESEE
W R55EE KR 1000 X
W EES - WA
W 5EEEFRTE P67




EiRE
BEEE NS-P-G-4x0 NS-P-G-2/3%0
4T +24\/DC +24\/DC
5 Signal+ Signal
Pin  NS-P-G-4x5 NS-P-G-2/13x5 % n.c. A%
1 Signal+ Signal SEEE  EEE AR
2 nic. oV
3 +24VDC +24\/pC
PE PE
M12*1 4§t
Pin NS-P-G-4x6  NS-P-G-2/3x6
1 +24\/DC +24VpC
2 Signal+ Signal
3 n.c. oV
4 n.c. n.c.

www.atlantis.tw -2-



onfaysEE

ATIANTIS'

PT-E100M 331 B - BEIRITRED SRR

= ERGRR Code

G2

Code
G4

2N

1/4" NPT

B8R

M20 M20*1.5 M12 M12*1 0 Efty -
]
B H #waE [ C EEHE | MI12 | MI2XT4StAK | — |
B == BB o~sv [1ov | o~tov [ mA [ 420mA [ - ]
i ; -100 kPa--0~1.0+1.6+3.0--10-+-20-+-40"+60++-70+--80+-90-100 MPa |
G | =B [ A | 1R L - | - L - | -
05 | 0.05 | 10 | 0.1 | 25 | 0.25 | - | -
/A FEEERBHRE /B IR
/C Rl

ZEBVEEHRI: PT-E100M-G4-C-mA-(-100kPa~0)-G-25

www.atlantis.tw -3-




